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How much is the shirt?

A. £19.15. B. £9.18. C. £9.15.
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1. What happened to the man?

A. He was locked out. B. He missed the train. C. He lost his keys.
2. Where are the speakers?

A.Atagym. B. At a restaurant. C. At a cinema.
3. What does the woman dislike about her trip?

A. The weather. B. The traffic. C. The scenery.
4. When will the conference begin?

A. At 7:30. B. At 8:30. C. At 9:00.

5. What are the speakers talking about?

A. A job position. B. A fellow worker. C. A new office.
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6. What seems to be the man’s problem?
A. He doesn’t sleep well.
B. He has no more pills.
C. He can’t focus properly.

7. What is the man advised to do?
A. Stay home from work.
B. Have a check-up.

C. Stop feeling anxious.
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8. How did the man get to work today?
A. By bike. B. By bus. C. On foot.
9. What is the man’s major concern about driving a car? |
A. Expenses. B. Health. C. Environment.
10. What does the woman think of using a car?

A. It’s costly. B. It’s dangerous. C. It’s convenient.
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11. Who reached the top of Mount Qomolangma?

A. Ellen. B. Jonathan. C. Heather.
12. How long did the man spend on his adventure travel?
A. 96 days.

B. Four months.
C. One year.
13. What does the woman think about doing in the future?
A. Walking through a national park.
B. Cycling along a country road.

C. Camping out in the mountains.

FEE RS 2 W (33 7O



Wreg 9o BobbEL, IS 14 2 17 &
14. What is Julian doing?
A. Planning her budget.
B. Conducting an interview.
C. Giving advice on studies.
15. Which costs Matt most each month?
A. Food.
B. Clothes.
C. Books.
16. How much does Matt spend on sports a month?
A. About $15.
B. About $30.
C. About $50.
17. What is the probable relationship between the speakers?
A. Strangers.
B. Schoolmates.

C. Co-workers.
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18. Which colour is unsuitable for office walls?
A. Green.
B. Red.
C. Yellow.
19. What effect does natural light have on office workers?
A. Tt is good for their eyes.
B. It helps them concentrate.
C. It makes them feel cheerful.
20. Who are most likely to be interested in the talk?
A. Managers.
B. Painters.
C. Teachers.
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How much is the shirt?

A. £19.15. B. £9.18. C. £9.15.
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1. What is the speakers’ destination?
A. The park. B. The beach. C.'The hotel.
2. What is Nancy’s plan for Christmas?
A. To have dinner at home.  B. To do volunteer work. C. To visit some friends.
3. What is wrong with the man’s watch?
A. It’s fast. B. It’s stopped. C. 1It’s slow.
4. Where is the bookstore now?
A. On Lear Road.
5. What is the man going to do?

B. On Nelson Street. C. On Huntington Road.

A. Do some shopping. B. Give the woman aride. =~ C. Make breakfast.
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6. Why does the woman charge the man?
A. He’s returned a book late. B. He’s damaged a book. C. He’s lost a book.
7. How does the man feel about the fine?

A. It’s acceptable. - B. It’s too much. C. It’s unnecessary.
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8. What is special about the teacups?
A. They are finely decorated.
B. They are sold with candies.
C. They are shaped like hearts.
9. Why does the man take the apple-tree-to-be gift?
A. It looks attractive.
B. It provides instructions.
C. It will be a pleasant memory.
10. How much will the man pay for the gift?
A. $24.95. B. $26.99. C. $56.90.
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11. What does Karl need according to Susan?

A. A holiday. B. A promotion. C. A pay raise.
12. What does Karl think his company should do?
A. Offer paid vacations. B. Keep costs down. C. Employ more people.

13. What does Susan agree to do for Karl?
A. Watch for job openings.
B. Post an advertisement.

C. Talk to his manager.
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14. What is the woman’s original plan for tonight?
A. Have a good rest.
B. Study for an exam.
C. Celebrate her birthday.
15. What does the man intend to do with friends at 6:30?
A. Have dinner.
B. Watch a movie.
C. Have a party.
16. When will the party probably end?
A. At 10:00.
B. At 10:30.
C. At 11:00.
17. How does the man sound?
A. Enthusiastic.
B. Impatient.
C. Hesitant.
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18. What is the talk mainly about?
A. Disease control.
B. Local events.
C. Government service.
19. What is prohibited at present in Oxton?
A. Watering gardens.
B. Smoking outdoors:.
C. Washing cars.
20. What does the speaker say about the fire?
A. It destroyed a building.
B. It caused serious injuries.

C. It was quickly put out.
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